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QUESTION 1

Which three statements describe the Transmission Control Protocol (TCP)? (Choose three.) 

A. TCP is a transport layer protocol. 

B. TCP is faster than the User Datagram Protocol (UDP). 

C. TCP provides delivery notification and error-checking mechanisms. 

D. TCP uses a best-effort delivery approach. 

E. TCP application examples include HTTP and SMTP. 

Correct Answer: ACE 

 

QUESTION 2

You notice traffic destined to 172.31.17.0/24 is traversing an OSPF path rather than a BGP path. Referring to the
exhibit, what is causing this behavior? 

A. The 172.31.17.0/24 BGP route has a higher route preference. 

B. The 172.31.17.0/24 route does not have a valid BGP entry. 
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C. The 172.31.17.0/24 BGP route is missing a valid default next hop. 

D. The 172.31.17.0/24 BGP route\\'s outgoing interface is down. 

Correct Answer: A 

 

QUESTION 3

Given the host IP address of 192.168.100.60 and a network mask of 255.255.255.224 (or /27), which address
represents the correct network address for the referenced host? 

A. 192.168.100.48 

B. 192.168.100.16 

C. 192.168.100.0 

D. 192.168.100.32 

Correct Answer: D 

 

QUESTION 4

Which protocol family is required prior to assigning an IP address to an interface? 

A. ip 

B. ip6 

C. inet 

D. inet4 

Correct Answer: C 

 

QUESTION 5

Which command would correctly set a router\\'s date and time? 

A. # set date 199708290900.00 

B. # set system time 199708290900.00 

C. > set date 199708290900.00 

D. > set system time 199708290900.00 

Correct Answer: C 
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